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1.Of the following producticn functions, which exhibit increasing, constant | or

decreasing returns to scale”

(@) F(K,L)=K'L (& points)
(b) F(K . L)=10K +3L (6 points)
€y F{K,Ly=(KL)" (6 points)

5 A consumer has some fixed money income Y which he spends on two goods
X ,and X, The prices of X, and X, arcfixed at p and p,and the consumers
utility function is

U=alogk, +a,logk, -,
(a) Derive the demand curves for X and for X ,. (10 points)
(h) Show that the demand curves are homogeneous of degree zero in money income
and commaodity prices. (8 points)
(¢) Derive the income elasticity of demand for each good. (8 points)

3.Harold Schmidt has been given permission to sell lemonade on the street corners at
a fixed price of 10 cents a glass. Given the tollowing production function and factor
prices
Q= 9[ P X f’) and r =6cents, r, =12cents, where X and X, are
ounces of pure artcsian watcr and lemon juice,
(a) Derive the first order conditions for profit () maximizalion in the Schmidt
gnterprise. {8 points) |
(b) Show that the elasticity of substitution beiween X,and X, is cqual to a
constanl. (0 points)
(¢) Derive equilibrium values for X, X,.Qand #.{12 points)

4.8uppose that BMW can produce any quantity of cars at a conslant marginal cost

equal to $15,000 and a fixed cost of $20 million. You are asked to advise the CEQ)

as to what prices and quantities BMW should set for sales in Europe and in the U.S.

The demund for BMWs in each market is given by:

0, =18,000-400P; and O, =5.500-100F,

where the subscript £ denotes Europe, the subscript U denotes the United States, and

all prices and costs are in thousands of dollars. Assume that BMW can restrict U.S.

sales to authorized BMW dealers only.

(a) What quantity of BMWs should the firm sell in cach market and what will the
price be in cach market? What is the total profit? (18 points)

(b) f BMW were forced to charge the samne price in each market, what would be
the quantity sold in each market, the equilibriim price, and the company's prolit?
{12 poinis)
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